
 

Sandwich Theorento

One More Limit Law

Suppose that Ima fix exists and Isage

If Fox Egan near a then

disafox I finagle
Sandwich Theorem Squeeze Theorem

let fat gox and ha be functions

Suppose that fax Eg x shat near a

and fin fix fifa ha L
Then lim

x as G L

viii

Since fix and hg have the same limit at a



and glx is sandwiched between them

gox also has the same limit at a

Ey Compute 1in X sin E

1 E sin E E I

4230 far all x so

I sin E EX

X is a polynomial so it is continuous

Therefore Iim x2 02 0

Similarly fino X 02 0

By the Sandwich Theorem we see that

Kimo x sin E 0



g

W

ÉMAN

Application Compute 1in sift

ii ii

I SEE

Area of purple triangle Area of green sector
1 Area of pink triangle
sin x cos G EX SEI SIX



cos x Fat Isa

cost 3 sin coscx

Since cos x is continuous

I's cosG cos o 1

Similarly since Isc is continuous

Iso Isa costco 4 1

By the Sandwich Theorem

IE.sn I
E Compute II o Ish

x

It cos x

6
l cos x

It cos x

sin Cx
in

l cos x

x it cos Theo x It cosGT



Is II o III
1 Tifa 1

O

dig
I cos x

x O

Ex Compute 1in 4 t 1 1 cos E

I I cost I 1

1 1 I 1 1 cos E E IX I

4 1 1 E 4 1 1 cos E I 4 1 1

I O
4 1 1 4 101 4

yin 4 1 1 4 101 4

By the Sandwich Theorem

limo 4 1 1 cos E 4



A 4 4 1 1

Whim

4 4 1 1 cosy

s y Y 1 1


